S o
HE: Uoin FOIMH BASH(SYHILM/5Y - 5E)
9l AIRIEC BE2Y CERE
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
o ot o 957,257 950,950 6,307
LOI3 FOIME BOUSH(SPHYLL/5Y - 5E) 237,900 211,400 26,500
NOIEO #X2Y 187,900 161,400 26,500
oy K 121,400 121,400 0
202 Oft 2,000 2,000 0
01 =0l 2,000 2,000 0
=0 &t 2,000 2,000 0
Zol WS U BAHA 0H S
60,0002 *6% *33] 1,080
OF= XXM HWXO0IZ 60,0002 +6% 23l 720
O2AZ 5|04 S 0fbl 20,0008 x2% *53] 200
301 LsBAD 119,400 119,400 0
05 SX-0% - HHHSELS 117,300 117,300 0
=0 117,300 117,300 0
ool® JEag 200,002 *35% +122 84,000
OO0IZ &0i3 200,000 *352 %23 14,000
OO0lE slolas +g
20,0002 *35 x25| 128 16,800
ouE sy 25,0002 ¥50% *23| 2,500
09 BAAHIBAE 2,100 2,100 0
= 0l &t 2,100 2,100 0
ONEZZ A S AT 24
10,0002 *358] *43| 1,400
O%AZ DS, ML S B4 24
10,0002 *35% #23] 700
Rle SaHARES (F21E 010 &) 50,000 40,000 10,000
201 Yur2H| 20,000 40,000 20,000
01 AtR2lY| 20,000 25,000 A5,000
=0 4t 20,000 25,000 A5,000
Ouorpl 50l s|¢sn 2o
15,000, 0008 *14! 15,000
ouorpl 23H 29 5,000, 000! * 1! 5,000
401 ANZHIL 2T 30,000 0 30,000
01 Al&tHI 30,000 0 30,000
=0 & 30,000 0 30,000
OE0 43 X4 % 2F 5127 MY
30,000,000% *14] 30,000
ZOIFO0 N 2 5,800 0 5,800
201 Yur2gyl 5,000 0 5,000
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SN dots
HE: Lo FOME HASH(SYHYSL/5Y - 5F)
Sl ASIEN BH2SY CERE
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES HE o) (713 o) Hns2
01 At 22l 5,000 0 5,000
= 0 & 5,000 0 5,000
OFCIGIASIRE £  100,000% +20% *23] 4,000
OFQIFOI0I4 AL (BYS RIZY)
1,000,000 *14} 1,000
301 LBAD 800 0 800
09 BAAHIEAS 800 0 800
=0 800 0 800
OFOIBOIOI4 BN S22I A2
20,0002 ¥20% *23| 800
ZOUMNLME 2 10,700 0 10,700
201 Yur2YHl 9,700 0 9,700
01 At 2reltl 9,700 0 9,700
=0l & 9,700 0 9,700
OFQIRIIME Ler48H 100,008 * 122 1,200
OFQIRXY slo2g
20,0001 ¥25% * 123 6,000
OFQANXME T2 egad
100,000 *17H * 122 1,200
OZFDINIME 328 AT B
800,0002! * 14! 800
OFQURXME sloa S&B Fb|
500,0002! * 14! 500
301 LerEaR 1,000 0 1,000
09 BAAHIZAZ 1,000 0 1,000
=0 4t 1,000 0 1,000
OFQIRAAES S HAX Ast
40,0008 *252 *13] 1,000
LR 50,000 50,000 0
ZOISH AL 50,000 50,000 0
401 ANSHIL2THY 50,000 50,000 0
01 A&l 50,000 50,000 0
=004 50,000 50,000 0
OHZEE 8H+2 JHITA
15,000, 00021 * 14! 15,000
OREES 842 JUIZA
15,000, 00021 * 14! 15,000
OZolg® 212 /A 20,000,0002 14 20,000
LGOS SIBAE(SEHYLL/SY - 55) 599,700 616,000 16,300
SeIBES U N 599,700 616,000 16,300
I

- 1223 -




SN Lot
HE: Gots SIBRE(SYHY LM /5 - 5E)
Sl SeIIBES U WY (2@
x s . Of &t o8 & & 0 A o -
SA - B (SH) - HRAY - BAES =z T HRE2
sHIEEZHE S8 A2 SYFAMS(FUEHMA) 599,700 616,000 A 16,300
401 AEHIZ=R0YI 599,700 616,000 A 16,300
01 Al&Hl 599,700 614,740 A 15,040
= 0l & 599,700 614,740 A 15,040
OsUilts s Z&ESAL 15,000,000 » 14 15,000
OLLIDIS BI42 FUIZA
18,000, 000& * 14! 18,000
ONUDIE JtEaY SXIZA
15,000, 000& * 14 15,000
O4=0t2 S22 THZA
19,000, 000& 14! 19,000
O&s0tS o2 T3 A 15,000,000 14! 15,000
Ozt 0ts ot ZHIS AL 18,000,000 » 14 18,000
Odts0ts s2 ZZF AL 18,000,000 14! 18,000
OZd0ts X4 2= At 10,000,000 » 14 10,000
O&J/10t2 o2 EHISAH 18,000,000 » 141 18,000
OHHEDIS 42 FUITA
15,000, 000& 14! 15,000
OSUOE 842 HUIZA
19,000, 000& * 14! 19,000
OB Z0t= 2tZ ZHIS A 18,000,000 » 14 18,000
ODNEDS BH42 BUIZA
20,000,000 =14 20,000
OUJI0IE 842 BHIZA
20,000,000 =14 20,000
Osgots 2tZ ZHISAE 15,000,000 =14 15,000
OFJI0tE 52 Z&ZSAL 15,000,000 =14 15,000
OO0IZ0IS BH+2 HHIAY
22,000,000& =14 22,000
O-20ts otZ EHIS A 15,000,000 » 141 15,000
OBS502 BHI42 BUIZA
20,000,000& » 14! 20,000
OSS50i2 AYR HYIZA
15,000, 000& * 14! 15,000
OUSOtE =2 2ZF ZA
20,000,000& =14l 20,000
OMLHDIS BI42 FUIZ A
13,000, 000& * 14! 13,000
O2slts =2 ZESAL 18,000,000 =14 18,000
OFE0ts =2 SHE S AL 20,000,000 » 14 20,000
OJt&E0ts ot ZHIZ A 20,000,000 » 14 20,000
OO0t =2 EZESAL 20,000,000 » 14 20,000
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SA: o
Hu: Loip SYIHAS(SEHL PN /5Y - 5E)
ool SIBEL U N CERE
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
OS40t2 o2 HHIZBA 20,000,000 «14! 20,000
OMFOIE 842 JHITZA
19,000, 000! *144 19,000
OBAMOIZ 2518 SEXIBA
19,000, 0008 *144 19,000
O%t=20t2 242 JUIZ AL 19,000,0002 *14] 19,000
SE DSs® F¥ FHBA
10,700,000 +144 10,700
O+F0t2 2 FUIBAL 19,000,0002 *14] 19,000
O&X0l2 ¥ ZATAL 15,000,0002 *14] 15,000
OMIZE D123 3 F¥ =T ZLTM
12,000, 000! *1244 12,000
OS20t2 &6 T&IA 15,000,0008 *14] 15,000
HHS YA (Heret) (OIEH/IIE) 119,657 123,550 £3,893
o122 gl 29,497 30,690 A 1,193
ole 2| 29,497 30,690 A1,193
101 Q12 29,497 30,690 A1,193
01 24 29,497 30,690 A 1,193
=00 & 29,497 30,690 A1,193
oA aRLY
10,2009 * 1284 % 17 Al 24+ 122 25,212
OAZtAZ 24 L (A EHI &)
10,2998 22 =4 Al 2+ 5522 4,285
=2 90, 160 92,860 A2,700
ol =22l 90, 160 92,860 A2,700
201 Ler2| 43,800 43,800 0
01 AtR2elHl 24,000 24,000 0
=004 24,000 24,000 0
OMSE A LS 400,008 +1CH*122 4,800
OMSA H4D| LS 33,0008 +30H+122 1,188
OYRET S
8,0002! * 142 x32 x 122 4,032
ONZER B4 M= 10,0008 +73] 700
OZAII,ZRIE 48 KUl 300,0002 «43] 1,200
OMNSEE Y 30,0002 *14% * 122 5,040
OHIIVHBY 248 130,0002 * 15| 130
OLHOIHHY 242 130,0002 * 15| 130
O=AII,ZRE EH S 2
297,000 *3CH 43l 3,564
O=MEX 2 26,8002 10 A « 122 3,216
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S Lot
M. HESHHH| (LA )(DJIEH/IIE
Ce: I3l (chg:®
SN HE B (BA) - MEAY - BHAS o @(ijf;ﬁ% HRE2
02 =249l 19,800 19,800
= 0l & 19,800 19,800 0
ORER= 143,450& «12& 1,722
O&IIANSZ 850,000 x12& 10,200
OHdlx=E AIE= 100,000& =128 1,200
Oske= 50,000& ~12& 600
O&SAE A=Hl 198, 100& «12& 2,378
OXNSIAN & BHMERES
100, 000& = 1CH 100
OoESXYE =837l 300,000& 43| 1,200
odotd HM=EXIME AlZ&H |
200,000& x12& 2,400
202 04| 35,100 37,800 A2,700
02 XY 35,100 37,800 A2,700
= 0l & 35,100 37,800 A2,700
O HNH| 225,000& x13H = 12& 35,100
203 Y= 11,260 11,260 0
01 JI22ILR=AH| 7,700 7,700 0
= 0l & 7,700 7,700 0
O ot & 7,700,000& x1H 7,700
02 HJAINNMPRFAH| 560 560 0
= 0l & 560 560 0
ALY R F Y| 40,000& «14H 560
04 EANSILRF=AH| 3,000 3,000 0
= 0l & 3,000 3,000 0
ORANSIELRF=AH| 250,000& «12& 3,000
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